Boffer Questions Extra  Answers

la) __ CHaCOOH_ == CHzCoo"_+_H
___CH3COONo == CH3c00~ + Nat

O4 - O4mddw3_____ OS . OSmoldn?

O —

I

.—

. Ko: [CHac00 ICHA  174x(07°7 OS < Ll
[cezcoord o4

_____ o RE 202 oH =486

[ .b).__.u 50 . 0083 150 - O-15dm3

Q3005 = O-01Smales 0:3 x 0-0IS = 0-04S5mdes

o HCooh HCOONa
Q0I5 = O-0T5moldni3 0045 - 0 225mildw?
C2 _ ____HCooH o-Z. HCOONa, -
ko= LHcoodCutl 107375 1-778xi07%
. I _LCrcoorl
o 1781074 70225 < CHTL  HY = 5-926x1073
S 0078 N

e PREA2E | -




_le) 01 - 04 02 . 0%
075 Neg 075 nHat
. NHs' = NHz + HF B
B _NH (U = NHg" + CLT

pkezQ25  10°%%52 5620 (ka) .
] ke NHI[W  562x107"° 5 0-4 xCwl
. N CNHel R

Hiz l124x107'  oH =895

S (l) 0250 x_ 100 = OO025mdes Q250 x (00 = O-025w)
1000 CHgNH; 1000 CH3MHz(L

Q025 = 0:125 0025 = 0:125 _

O:2 CHanHy O2Z  CHanMglt

21807 = GZS < (1A




%Z _1lomole  _ain_lQme .. L0ndOn

ZO_\) . ___6__@,._: {eodle Q& - IMae.
GO CHacoom L CHcoona o

T 174%i03: L~
ECH3CO0H1 - B

b 5x0o0i:0 ossm;n;;f
el

T ki [t ILHd
1 [cHzCoodY

CHz (0o~ = O Omoles
CHUgCooH =  O-Smoles

* _ CHzCoo = _ 05 -0 OO.S = O ‘*'OISmolc,s - 05: 0 Qg mol
_ CHaCoon = 05 4 0005 7 Qw._5.?_.,5.".@1_?;_";_.9.#.5_;.!,.,Q_l moldni 3

176w 0dax Cuid HUZ 1775073 pH £4.75_
| -0

I <) I 5x00)_= 0005 moles
B o NaQ#H

. ka>Ccupcoodfuf)  CH3c0 TO Smles o
'  [eHa@odd _ CH3cook* OSmoles

#_#_ CHacoo 05 +0: 005~ 0:505mks T 05 =1 Olmo(ﬂm o
__CHzCoot - O G = 000570495 mles = 0 52 0 9qmaded -

10l = %

 HE = 1055070 pH = 477

f- 74"»50-5



